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Practice Set 3 1

1. Which of the following squences are A.P.? If they are A.P. find the

common difference 

127, 132, 137, …

Watch Video Solution

2. Write an A.P. whose first term is a and common difference is d in each

of the following: 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NQps7p3Hqd4T
https://dl.doubtnut.com/l/_GCPXdD0b4Swx


Watch Video Solution

a = 10, d = 5

3. Write an A.P. whose first term is a and common difference is d in each

of the following: 

Watch Video Solution

a = − 3, d = 0

4. Write an A.P. whose first term is a and common difference is d in each

of the following: 

Watch Video Solution

a = − 7, d = i. e. 0.5
1

2

5. Write an A.P. whose first term is a and common difference is d in each

of the following: 

https://dl.doubtnut.com/l/_GCPXdD0b4Swx
https://dl.doubtnut.com/l/_J3PYJXsLvagS
https://dl.doubtnut.com/l/_xGmJZ2wLb8Ox
https://dl.doubtnut.com/l/_GKQEjNv453Dc


Watch Video Solution

a = − 1.25, d = 3.

6. Write an A.P. whose first term is a and common difference is d in each

of the following: 

Watch Video Solution

a = 6, d = − 3.

7. Find the first term and common difference for each of the A.P. 

5,1,-3,-7

Watch Video Solution

8. Find the first term and common difference for each of the A.P. 

0.6,0.9,1.2,1.5,…..

Watch Video Solution

https://dl.doubtnut.com/l/_GKQEjNv453Dc
https://dl.doubtnut.com/l/_JlBXfGVKd8hZ
https://dl.doubtnut.com/l/_Y4etwFTgkm6T
https://dl.doubtnut.com/l/_KSu0T2y9DRcx


Practice Set 3 2

9. Find the first term and common difference for each of the A.P. 

127,135,143,151,….

Watch Video Solution

10. Find the first term and common difference for each of the A.P. 

, …..

Watch Video Solution

, , ,
1

4

3

4

5

4

7

4

1. Write the correct number in the given boxes from the following A.P. 

3,6,9,12,……. 

Here 

W t h Vid S l ti

t1 = □ , t2 = □ , t3 = □ , t4 = □ , t2 − t1 = □ , t3 − t2 = □ ∴ d = □

https://dl.doubtnut.com/l/_KSu0T2y9DRcx
https://dl.doubtnut.com/l/_yJkn5o3QE5aR
https://dl.doubtnut.com/l/_jDODoN9tVm9h
https://dl.doubtnut.com/l/_gsVSAeBFyjhx


Watch Video Solution

2. Write the correct number in the given boxes from the following A.P. 

,…..


Here, 

Watch Video Solution

−3, − 8, − 13, − 18

t1 = □ , t2 = □ , t3 = □ , t4 = □ , t2 − t1 = □ , t3 − t2 = □ ∴ a = □

3. Write the correct number in the given boxes from the following A.P. 

,………. 


Here, ,….. 

Watch Video Solution

70, 60, 50, 40

t1 = □ , t2 = □ , t3 = □ ∴ a = □ , d = □

4. In an A.P  term is  more than  term. Find the common

difference?

Watch Video Solution

17th 7 10th

https://dl.doubtnut.com/l/_gsVSAeBFyjhx
https://dl.doubtnut.com/l/_8poZ8XDwtBVb
https://dl.doubtnut.com/l/_HTNKqprrR8Dw
https://dl.doubtnut.com/l/_GurJfA0sdiQu
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1. First term and common difference of an A.P are  respectively.

Find 

Watch Video Solution

6 and 3

S27

2. Find the sum of first  even natural numbers.

Watch Video Solution

123

3. In an A.P.  term is  and  term is . Find the sum of first 

terms.

Watch Video Solution

19th 52 38th 128 56

https://dl.doubtnut.com/l/_GurJfA0sdiQu
https://dl.doubtnut.com/l/_l6o3hvYQZaf0
https://dl.doubtnut.com/l/_H5iMBnCicp9l
https://dl.doubtnut.com/l/_iRJZ4KaqfMXf


Practice Set 3 4

4. Find the sum of all natural numbers from 1 to 140 which are divisible by

4.

Watch Video Solution

5. Sum of first  terms in an A.P is . Find its  term.

Watch Video Solution

55 3300 28th

6. If the  term of an A.P is  then show that the  term is twice

the  term.

Watch Video Solution

9th zero 29th

19th

https://dl.doubtnut.com/l/_35ATQOtRGRmy
https://dl.doubtnut.com/l/_QyvNRIAHFKKx
https://dl.doubtnut.com/l/_TwiinPKgFrRC


1. On 1st January 2016, Sanika decides to save ,  on second day, 

on third day. If she decides to save like this, then on 31st December 2016

what would be her total saving?

Watch Video Solution

₹10 ₹11 ₹12

2. A man borrows  and agrees to repay with a total interest of 

 in 12 monthly installments, each installment being less than the

preceding one by . Find the amount of the first and last installment.

Watch Video Solution

₹8000

₹1360

₹40

3. Sachin invested in a national saving certificate scheme. In the 1st year,

he invested , in 2nd year , in 3rd year  and so on. Find

the total amount he invested in 12 years.

Watch Video Solution

₹5000 ₹7000 ₹9000

https://dl.doubtnut.com/l/_hSPYNwRmjEv5
https://dl.doubtnut.com/l/_2JsL15XtgcnY
https://dl.doubtnut.com/l/_rRsSomVbrSaw
https://dl.doubtnut.com/l/_W6mtFTTbNmgN


4. There is an auditorium with 27 rows of seats. There are 20 seats in the

first row, 22 seats in the second row, 24 seats in the third row and so on.

Find the number of seats in 15th row and the total seats in the

auditorium.

Watch Video Solution

5. Kargil's temperature was recorded for a week i.e Monday to Saturday.

All readings were in A.P .The sum of temperatures of Monday and

Saturday was  more than the sum of temperatures of Tuesday and

Saturday. If temperature of Wednesday was , then find the

temperature on the other five days.

Watch Video Solution

5∘C

−30∘C

6. On the World Environment Day tree plantation programme was

arranged on a land which is triangular in shape. Trees are planted such

that in the first row there is one tree, in the second row there are two

https://dl.doubtnut.com/l/_W6mtFTTbNmgN
https://dl.doubtnut.com/l/_YbrbDlVKBv2J
https://dl.doubtnut.com/l/_ghZa9VX9dz6K


Practice Set 3 5

trees, in the third row there are three trees and so on. Then find the total

number of trees in  rows.

Watch Video Solution

25

1. The sequence  a)is an A.P, Reason 

b)is an A.P, Reason  c)is an A.P, Reason  d)is not an A.P

A. is an A.P. Reason d=-16

B. Is an A.P. respond d=4

C. is an A.P. Reason d =4

D. is not an A.P.

Answer: b

Watch Video Solution

−10, − 6, − 2, 2, …… d = − 16

d = 4 d = − 4

https://dl.doubtnut.com/l/_ghZa9VX9dz6K
https://dl.doubtnut.com/l/_1KBBM6ica0xM
https://dl.doubtnut.com/l/_JD3J8reRKAwD


2. First four terms of an A.P are…………, whose first term is  and common

difference is . a)  b)  c)  d)

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

−2

−2 −2, 2, 2, 4 −2, 4, − 8, 16 −2, − 4, − 6, − 8

−2, − 4, − 8, − 16

−2, 0, 2, 4

−2, 4, − 8, 16

−2, − 4, − 6, − 8

−2, − 4, − 8, − 16

3. What is the sum of first 30 natural numbers? a)  b)  c)  d)

A. 464

B. 465

C. 462

464 465 462 461

https://dl.doubtnut.com/l/_JD3J8reRKAwD
https://dl.doubtnut.com/l/_nQfk5HnTkzQN


D. 461

Answer: b

Watch Video Solution

4. For a given A.P., ,  then  a)  b)  c)  d)

A. 6

B. 7

C. 20

D. 28

Answer: d

Watch Video Solution

t7 = 4 d = − 4 a = ……… 6 −7 20 28

https://dl.doubtnut.com/l/_nQfk5HnTkzQN
https://dl.doubtnut.com/l/_FTYyf0hMd6C9


5. For a given AP, , ,  then  a)  b)

 c)  d)

A. 0

B. 

C. 

D. 

Answer: b

Watch Video Solution

a = 3.5 d = 0 n = 101 tn = ………. 0

103.5 104.5 3.5

3.5

103.5

104.5

6. In an A.P, first two terms are , , then 21st term is……….a)  b)

c)  d)

A. 

B. 143

C. 137

−3 4 −143 143

131 137

−143

https://dl.doubtnut.com/l/_LoF7xokeEzL0
https://dl.doubtnut.com/l/_KuwIAwrXShkN


D. 17

Answer: c

Watch Video Solution

7. If for an A.P,  then =……………a)  b)  c)  d

A. 5

B. 20

C. 25

D. 30

Answer: c

Watch Video Solution

d = 5 t18 − t13 5 20 25 30

8. Sum of first five multiples of  is……a)  b)  c)  d)3 45 15 55 35

https://dl.doubtnut.com/l/_KuwIAwrXShkN
https://dl.doubtnut.com/l/_qQVjyQVE033G
https://dl.doubtnut.com/l/_QLzow5DukayQ


A. 45

B. 55

C. 15

D. 75

Answer: a

Watch Video Solution

9.  In this A.P the sum of first  terms is…..a)  b)

c)  d)

A. 

B. 

C. 75

D. 125

Answer: a

15, 10, 5, …… 10 −75 −125

75 125

−75

−125

https://dl.doubtnut.com/l/_QLzow5DukayQ
https://dl.doubtnut.com/l/_EzkVoqvP6HRQ


Watch Video Solution

10. In an A.P,  term is  and the last term is .The sum of all terms is

, then  a)  b)  c)  d)

A. 42

B. 38

C. 21

D. 19

Answer: b

Watch Video Solution

1st 1 20

399 n = …. 42 38 21 19

11. Find the 4th term from the end in an A.P, 

Watch Video Solution

−11, − 8, − 5, …. , 49

https://dl.doubtnut.com/l/_EzkVoqvP6HRQ
https://dl.doubtnut.com/l/_zwtcznzwGA5h
https://dl.doubtnut.com/l/_cZtyLRmJynlU
https://dl.doubtnut.com/l/_9JVkx0WjLx0m


12. In an A.P  term is , sum of  term and  term is . Find the

A.P.

Watch Video Solution

10th 46 5th 7th 52

13. An A.P has its  term as  and  term as . Find the sum of

first  numbers.

Watch Video Solution

4th −15 9th −30

10

14. Two A.P's are given as  and . If  term of

both the progressions are equal then find the value of  and  term.

Watch Video Solution

9, 7, 5, …. 24, 21, 18, … nth

n nth

15. If sum of  and  term of an A.P is  and sum of  and  term

is , then find  term.

Watch Video Solution

3rd 8th 7 7th 14th

−3 10th

https://dl.doubtnut.com/l/_9JVkx0WjLx0m
https://dl.doubtnut.com/l/_tciVErgCSwcU
https://dl.doubtnut.com/l/_p6olBOxSor0b
https://dl.doubtnut.com/l/_WY9roXGFYkV9


16. In an A.P, first term is  and last term is . If sum of all the numbers

in the A.P is , then how many terms are there? What is the common

difference?

Watch Video Solution

−5 45

120

17. Sum of  to  natural numbers is . Find the value of .

Watch Video Solution

1 n 36 n

18. Divide  in three parts, such that all parts are in A.P and product of

two smaller parts is .

Watch Video Solution

207

4623

https://dl.doubtnut.com/l/_WY9roXGFYkV9
https://dl.doubtnut.com/l/_byEr3tlcI7w4
https://dl.doubtnut.com/l/_At0LU5MfGd2B
https://dl.doubtnut.com/l/_Ra5XqSZvFPNT


19. There are  terms in an A.P. The sum of three terms placed exactly at

the middle is  and the sum of last three terms is . Write the A.P.

Watch Video Solution

37

225 429

20. If first term of an A.P is , second term is  and last term is , then

show that sum of all the terms is .

Watch Video Solution

a b c

(a + c)(b + c − 2a)

2(b − a)

21. If the sum of first  terms of an A.P is equal to the sum of first  terms,

then show that the sum of its first  terms is . .

Watch Video Solution

p q

(p + q) zero (p ≠ q)

22. If  times the  term of an A.P is equal to  times its  term

then show that  term of the A.P is .

m mth n nth

(m + n)th zero

https://dl.doubtnut.com/l/_aTOF9zUwdZNp
https://dl.doubtnut.com/l/_zuHJ1CXLZJJS
https://dl.doubtnut.com/l/_3etTB25P0xmt
https://dl.doubtnut.com/l/_03uj20P6w0gN


Multiple Choice Questions

Watch Video Solution

23.  is invested at  simple interest. Check at the end of every

year if the total interest amount is in A.P. If this is an A.P then find interest

amount after  years.

Watch Video Solution

₹1000 10 %

20

1. Which of the following is not an A.P?

A. 2,4,6,8,10,…..

B. ,……..

C. …….

D. 1,4,9,16,25,……..

Answer: d

−17, − 12, − 7, − 2, 3

1.5, 4, 6.5, 9

https://dl.doubtnut.com/l/_03uj20P6w0gN
https://dl.doubtnut.com/l/_aLFgzBvNF7AM
https://dl.doubtnut.com/l/_8F4YsskpGHlC


Watch Video Solution

2. The first five terms of the A.P. with a =6 and d=-3 are

A. 6,9,12,15,18

B. 

C. 6,3,0,-3,-6

D. 

Answer: c

Watch Video Solution

−6, − 9, − 12, − 15, − 18

6, 3, − 3, − 6, − 9

3. For the A.P. 9,16,23, 30,37,……

A. a=1, d=9

B. a=1, d=7

C. a=9 d=9

https://dl.doubtnut.com/l/_8F4YsskpGHlC
https://dl.doubtnut.com/l/_RgSJPX9btca5
https://dl.doubtnut.com/l/_pzLL9Eqiz8uN


D. a=9, d=7

Answer: d

Watch Video Solution

4. If , then  =

A. 117

B. 135

C. 

D. 

Answer: d

Watch Video Solution

a = − 9, d = − 7 t19

−117

−135

5. 149 is the………….. Term of the given A.P. 5,11, 17, 23, 29,………..

https://dl.doubtnut.com/l/_pzLL9Eqiz8uN
https://dl.doubtnut.com/l/_Ymbjw0tb9ELf
https://dl.doubtnut.com/l/_1gknwV7CrPhB


A. 24

B. 25

C. 30

D. 31

Answer: b

Watch Video Solution

6. For any given A.P., if  , then

A. a-d=0

B. a+d=0

C. a-2d=0

D. a+2d=0

Answer: a

Watch Video Solution

t30 = 2t15

https://dl.doubtnut.com/l/_1gknwV7CrPhB
https://dl.doubtnut.com/l/_2ELxcHEhjaeQ


7. 

A. 5000

B. 5050

C. 5500

D. 5555

Answer: b

Watch Video Solution

1 + 2 + 3 + 4 + ………… + 100 =

8. If the first and last term of an A.P. are 18 and 82 respectively, then

A. 2500

B. 1250

C. 800

S25 =

https://dl.doubtnut.com/l/_2ELxcHEhjaeQ
https://dl.doubtnut.com/l/_aJ1zr9iJMulY
https://dl.doubtnut.com/l/_73MW8E2GKnZY


Based On Practice Set 3 1

D. 625

Answer: b

Watch Video Solution

9. For an A.P. if the first term is 8 and the common difference is 8, then 

=

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

Sn

2n(n − 1)

4n(n − 1)

2n(n − 1)

4n(n + 1)

https://dl.doubtnut.com/l/_73MW8E2GKnZY
https://dl.doubtnut.com/l/_uDH7BnIyMo5Y


1. Some sequences are given below. For every sequence write the next

three terms. 

(i) 100, 70, 40, 10,…..

(ii) -7, -4, -1,2,....... 

(iii) 4,4,4 ……

Watch Video Solution

2. Which of the following sequences are arithmetic progressions? Justify.

(i) 2,6,10,14,………… 

(ii) 24,21,18,15,…… 

(iii) 4,12, 36, 108,………. 

(iv) ………. 


(v) ……… 


(vi) ,…….. , 


(vii) ,........... 


(viii) ,............

Watch Video Solution

1, , 2,
3

2

5

2

−50, − 75, − 100

12, 2, − 8, − 18

1, 3, 6, 10

1, 4, 7, 10

https://dl.doubtnut.com/l/_hTnQPCoYqL06
https://dl.doubtnut.com/l/_nAS8J9tHwxvy


3. Check whether the sequence 7,12, 17, 22,……….. Is an A.P., find the common

difference.

Watch Video Solution

4. Find the first term and common difference for each of the A.P. 

(i) 4,1,-2, -5,………

(ii) ……. 


(iii) ,………

Watch Video Solution

−1.25, − 1.50, − 1.75, − 2

53, 38, 23, 8

5. If for an A.P. the first term is 11 and the common difference is (–2), then

find first three terms of A.P.

Watch Video Solution

https://dl.doubtnut.com/l/_nAS8J9tHwxvy
https://dl.doubtnut.com/l/_OjBH9fpTmR4f
https://dl.doubtnut.com/l/_jmL7sxK2a9lo
https://dl.doubtnut.com/l/_tSZosydZHazR
https://dl.doubtnut.com/l/_k80WHOMO9gbN


Based On Practice Set 3 2

6. Find the first four terms in an A.P, when a=3 and d=4.

Watch Video Solution

7. The first term a and common difference d are given. Find first four

terms of A.P. 

(i) , 


(ii)  


(iii) , 


(iv) 

Watch Video Solution

a = − 3, d = 4

a = 200, d = 7

a = − 1, d = −
1

2

a = 8, d = − 5

1. Find  for an A.P. 1,7,13, 19,……….

Watch Video Solution

tn

https://dl.doubtnut.com/l/_k80WHOMO9gbN
https://dl.doubtnut.com/l/_eOLHKhYHFOZL
https://dl.doubtnut.com/l/_n1U7BIjM2dyp
https://dl.doubtnut.com/l/_sUSYAwh1hSEV


2. Find  for following A.P., and then find 30th term of A.P. 


3,8,13, 18,…….

Watch Video Solution

tn

3. Find the 

(i)  term of the A.P. 4,9,14,……. 

(ii) 7th term of the A.P. 6,10,14,………..

Watch Video Solution

10th

4. Find the  term of the A.P .

Watch Video Solution

18th 1, 7, 13, 19

5. Find the  term of A.P 

Watch Video Solution

25th 12, 16, 20, 24, …. .

https://dl.doubtnut.com/l/_sUSYAwh1hSEV
https://dl.doubtnut.com/l/_YzD1h7ZgCfUX
https://dl.doubtnut.com/l/_ggzI1NsAMiae
https://dl.doubtnut.com/l/_9TJuvcFUggK1


6. Which term of the following A.P. is 560? 

2,11, 20, 29,……

Watch Video Solution

7. Find n if the nth term of the following A.P. is 66:3, 6,9,12……..

Watch Video Solution

8. How many terms are there in the A.P. 201, 208, 215, …….., 369?

Watch Video Solution

9. How many two digit numbers are divisible by 4?

Watch Video Solution

https://dl.doubtnut.com/l/_9TJuvcFUggK1
https://dl.doubtnut.com/l/_vQeN5seZ8t0F
https://dl.doubtnut.com/l/_CD6u9lIIhUcZ
https://dl.doubtnut.com/l/_6PTWiTVhcmJW
https://dl.doubtnut.com/l/_YwBsKnWN0mHq
https://dl.doubtnut.com/l/_W1petjHIG4wp


10. Check whether 301 is a term of the list of numbers 5, 11, 17, 23, . .
 .

Watch Video Solution

11. If the 5th and 12th terms of an A.P. are 14 and 35 respectively, find the

first term and the common difference.

Watch Video Solution

12. For an A.P. if  and , find a,d and .

Watch Video Solution

t4 = 20 t7 = 32 tn

13. The  term and the  term of an A.P. are 16 and 29 respectively

then find: 

a. The first term and common difference. 

b. The  term. 


c. ‘n’ such that .

11th 21st

34th

tn = 55

https://dl.doubtnut.com/l/_W1petjHIG4wp
https://dl.doubtnut.com/l/_110wT4s9bCMo
https://dl.doubtnut.com/l/_srYwnHsN12lP
https://dl.doubtnut.com/l/_WItWy4ZqFpGW


Based On Practice Set 3 3

Watch Video Solution

14. The 10th term and the 18th term of an A.P. are 25 and 41 respectively,

then find 38th term of that A.P. Similarly if nth term is 99, find the value of

n.

Watch Video Solution

15. The sum of the 3rd and 7th terms of an A.P. is 54 and the sum of the

5th and 11th terms is 84. Find the A.P.

Watch Video Solution

1. If for an A.P. 

(i) a=6, d=3, find  
S10

https://dl.doubtnut.com/l/_WItWy4ZqFpGW
https://dl.doubtnut.com/l/_eFf4I6kFxJJY
https://dl.doubtnut.com/l/_krC7JKIYM4g0
https://dl.doubtnut.com/l/_sCLY300PtvQo


(ii) , find 

Watch Video Solution

a = 6, d = 3 S6

2. Find the sum of first 100 terms of A.P. 14, 16, 18,……..

Watch Video Solution

3. Find the sum of the first n terms of an A.P. 

1,4,7,10,…….. Also, find .

Watch Video Solution

S40

4. If for an A.P., , find .

Watch Video Solution

t8 = 36 S15

5. If for an A.P. ,find .S31 = 186 t16

https://dl.doubtnut.com/l/_sCLY300PtvQo
https://dl.doubtnut.com/l/_T3bAmHsUKJfN
https://dl.doubtnut.com/l/_HSMf1JDLykjh
https://dl.doubtnut.com/l/_sbk7cn23llAp
https://dl.doubtnut.com/l/_kAaShfBAWyT4


Watch Video Solution

6. If the second term and the fourth terms of an A.P. are 12 and 20

respectively, then find the sum of first 25 terms:

Watch Video Solution

7. Obtain the sum of  terms of an A.P whose  and  term are 

and  respectively.

Watch Video Solution

56 19th 38th 52

148

8. Find the sum of first n natural numbers.

Watch Video Solution

9. Find the sum of first n even natural numbers.

https://dl.doubtnut.com/l/_kAaShfBAWyT4
https://dl.doubtnut.com/l/_knT1zfrWPdEq
https://dl.doubtnut.com/l/_snOcfYFl7mBr
https://dl.doubtnut.com/l/_OTjrmGSe437N
https://dl.doubtnut.com/l/_vf7A7QJUL6DZ


Watch Video Solution

10. Write the
sum of first 
odd natural
numbers.

Watch Video Solution

n

11. Find the sum of all numbers from 50 to 250 which are divisible by 6

and find .

Watch Video Solution

t13

12. Find three consecutive terms in an A.P., whose sum is 21 and their

product is 315.

Watch Video Solution

https://dl.doubtnut.com/l/_vf7A7QJUL6DZ
https://dl.doubtnut.com/l/_U3qs006QdC1u
https://dl.doubtnut.com/l/_7dKKb5nIAblM
https://dl.doubtnut.com/l/_EA4QlupfShmL


Based On Practice Set 3 4

13. Find four consecutive term in an A.P. such that the sum is -54 and the

sum of the first and the third terms is .

Watch Video Solution

−30

1. There is an auditorium with 35 rows of seats. There are 20 seats in the

first row, 22 seats in the second row, 24 seats in the third row and so on.

Find the number of seats in the twenty second row .

Watch Video Solution

2. Number of literate people in the year 2010 is 4000. This number

increases by 400 every year. How many literate people will exist in the

year 2020?

Watch Video Solution

https://dl.doubtnut.com/l/_Yk3Mi570M3ad
https://dl.doubtnut.com/l/_Aj1gYipqDt7t
https://dl.doubtnut.com/l/_8etpERjoR3ji


3. In the year 2015, Mrs. Shaikh got a job with salary Rs. 1,80, 000 per year.

Her employer agreed to give Rs 10,000 per year as increment. Then in how

many years will her annual salary be Rs 2,50,000?

Watch Video Solution

4. Mr. Shah borrows  and agrees to repay with a total interest of 

 in  installments, each installment being less than the preceding

installment by  What is the first and the last installment?

Watch Video Solution

₹4000

₹500 10

₹10.

5. Anvar saves some amount every month. In first three months he saves

Rs 200, Rs 250 and Rs 300 respectively. In which month will he save Rs.

1000? Find the totla amount saved.

Watch Video Solution

https://dl.doubtnut.com/l/_8etpERjoR3ji
https://dl.doubtnut.com/l/_XmrkuUUCSaIc
https://dl.doubtnut.com/l/_CeijxY2rinE3
https://dl.doubtnut.com/l/_V97TdenrWpA4
https://dl.doubtnut.com/l/_TKvFAANvu9h7


6. A manufacturer of radio sets produced 600 units in the third year and

700 units in the seventh year. Assuming that the product increases

uniformly
by a fixed number every year, find (i). the production in the first

year (ii).
 the total production in 7 years and (iii). the production in the

10th
year.

Watch Video Solution

7. Mr. Ajay borrows ₹3,25,000. He paid ₹30,500 in the first month and then

each installment being less than the preceding installment by ₹1500 he

pays the rest. How long will it take to clear his loan?

Watch Video Solution

8. In winter, the temperature at a hill station from Monday to Friday is in

A.P. The sum of the temperatures of Monday, Tuesday and Wednesday is

zero and the sum of the temperatures of Thursday and Friday is .

Find the temperature of each of the five days.

15°C

https://dl.doubtnut.com/l/_TKvFAANvu9h7
https://dl.doubtnut.com/l/_Y7qP7LmkgrWR
https://dl.doubtnut.com/l/_AkNwAaVTlrnE


Chapter Assessment

Watch Video Solution

1. Is the following sequence an Arithmetic progression? If it is an A.P then

write common difference. 

A. is an A.P. Reason d=3

B. is an A.P. Reason d=-3

C. is an A.P. Reason d=4

D. is not an A.P.

Answer: b

Watch Video Solution

−10, − 13, − 16, − 19, ….

2. In an A.P., if , then d=t18 − t14 = 32

https://dl.doubtnut.com/l/_AkNwAaVTlrnE
https://dl.doubtnut.com/l/_4I3EnFrGomJ8
https://dl.doubtnut.com/l/_BPppIlrCdtyW


A. 4

B. 

C. 8

D. 

Answer: c

Watch Video Solution

−4

−8

3. Which term of the AP 21, 42, 63, 84,.. Is 210?

A. 10th

B. 11th

C. 12th

D. 13th

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_BPppIlrCdtyW
https://dl.doubtnut.com/l/_zDemE9gM9Vjs


4. In an A.P. if a=2, , then n=

A. 3

B. 5

C. 8

D. 12

Answer: b

Watch Video Solution

tn = 34, Sn = 90

5. Solve the following questions. 

(i) Check whether the sequence ,…. Is an A.P. If it is an A.P.,

find the common difference. 

(ii) If the 7th term of an A.P. is 40, then find .

Watch Video Solution

−3, − 1, 1, 3

S13

https://dl.doubtnut.com/l/_zDemE9gM9Vjs
https://dl.doubtnut.com/l/_nkT4vHaHdTgI
https://dl.doubtnut.com/l/_UhUZb4YDOSiN


6. Complete the following activities. 

Write the correct number in the given boxes from the following A.P. 

1,8, 15, 22,….. 

Here ,…… 


 

Watch Video Solution

a = □ , t1 = □ , t2 = □ , t3 = □

t2 − t1 = □ − □ = □

t3 − t2 = □ − □ = □ ∴ d = □

7. Find the A.P., if a=18 and d=-5

Watch Video Solution

8. Find the 15th term of the A.P. 21, 16,11,6……….

Watch Video Solution

https://dl.doubtnut.com/l/_WEJcqAIVygOn
https://dl.doubtnut.com/l/_s0UDnohraWY2
https://dl.doubtnut.com/l/_8rx8mI1Z5V9L


9. For an A.P., find  if a=4 nd d=3.

Watch Video Solution

S12

10. Which term of the A.P. 9,12, 15,………… is 132?

Watch Video Solution

11. For an A.P. if the 11th term is 38 and 16th term is 73, then find the 31th

term of the progression.

Watch Video Solution

12. The fourth term of an A.P is zero. Prove that the 25th term is triple its

11th term

Watch Video Solution

https://dl.doubtnut.com/l/_vCt47i6eamvN
https://dl.doubtnut.com/l/_6PTkHDmeZpNo
https://dl.doubtnut.com/l/_v2UTsASOArl8
https://dl.doubtnut.com/l/_VCDLhnVWcqZj
https://dl.doubtnut.com/l/_Vr18dqPs6iZE


13. In a flower bed, there are 23 rose plants in the first row, 21 in the

second, 19 in the third, and so on. There are 5 rose plants in the last row.

How many rows are there in the flower bed?

Watch Video Solution

14. The ratio of the sums of m terms and n terms of an A.P. is 

Prove that the ratio of their mth and nth term will be (2m - 1) : (2n-1).

Watch Video Solution

m2 : n2.

15. Is  an A.P? If so then what will be the  term ?

Check whether  are in this A.P.

Watch Video Solution

5, 8, 11, 14…. 100th

92 and 61

https://dl.doubtnut.com/l/_Vr18dqPs6iZE
https://dl.doubtnut.com/l/_9DtdFZPl83De
https://dl.doubtnut.com/l/_uCoe5BpfLffQ

